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1. XtxjH|

P S 2|/ S E30HHE (S 2 ) H1000 x L2000 / X|3=2 x H3( ZE53) Azt 228,000 |27}& 2 202214 032 273p

P S 2|/ S E30HHEE (P2 H) H1000 x L2000 / X|31 x H3( 2 E53) Azt 145,500 |S7HE & 202214 032 273p

FMEE| /R EHE R HAS (S 21H) H1000 x L2000 / X|Z=2 x HE3(REHL+ = 2 EE2) A 231,000 |27}& 2 202214 032 273p
XM S| C)/2 2 R HIAS (2 H) H1000 x L2000 / X|ZF1 x H3(REHL+ = 2 EE2) Azt 148,500 |S7HE & 202214 032 273p
Apd2e|tl/F S HBH (S EH) H1000 x L2000 / X|Z=2 x HF3(REHL+52X|2) 4 231,000 [£7}& & 202214 032 273p
XM S 2| Cl/2 2 X HIBH (M AY) H1000 x L2000 / X|Z=1 x HF3(REH +2X|2) Azt 148,500 |S7HE & 202214 032 273p
XM B2 /2R HE (S ) H1000 x L2000 / X|3=2 x HF3(2X|3) Azt 228,000 |27}& 2 202214 03¥ 273p
Ko 22|t/ R HE (A EH) H1000 x L2000 / X|Z=1 x HF3(2X|3) Azt 145,000 |27pHE 20224 03€ 273p
AdZe/EAd(FEY) H1000 x L2000 / X| 52 x &~ Hzt 240,000 |27} 2 20221 034 273p
Apd2e|th/AAad(HEd) H1000 x L2000 / X|F1 x #ll~ 4 157,500 |27t= & 202214 032 273p
27 50KW o 17,978,000 |E8H= AP B 20224 p.712
8% L 171552 |Z& AP E 202214 p.712

2022E A= QICHI}

SAH|

gols 0l 187,435 |CHotAME D] 20221 47| A|

S 0l 148,510 |chetzd M ed 3] 20224 AHHt7| A|

g 140,351 |CHOtAME S| 20221 47| A|
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Q|7 &

& AR H| Bk 7} (2)
35 nE 3 | o9 T 28| L R H| Bt 2 Hl
= = = =4 Etot =4 =Y
. Rpd 22l X
Edols 01 2l 187,435 18,744 18,744 | = AT}
2E 0.1 2l 148,510 14,851 14,851 | =AMEEZF
EHRf 2 | = 2H|o| 3% 3 % 33,595 1,008 1,008
[2 A1 1,008 33,595 34,602
2. nEEH U kA E|
HEEQE 0.1 ol 148,510 14,851 14,851 [HAMZANEZEM 20224 p.769
[2& A 14,851 14,851
3. YR 7| 50KW - "A|ZHEH
HEH 7| 50KW 0.0002362 | Al 17,978,000 4,246 4,246 |ZHE AR E 20221 p.712
PK=2 8.7 L 1,715.52 14,925 14,925 (e LPEE 2022 p.712
EHXf 2 H| TR0l 24% 24 % 14,925 3,582 3,582 |ZEE AR 202214 p.712
LI A2 AL 0.20833 ol 140,351 29,239 29,239 | SetH AR 2022 p.712
(2 A1 18,507 29,239 4,246 51,993




2 % of 7t
A 22| f/FE3CHE (S ) Azl
& AbH| BTt (
35 4 =& £l = EX Ll ZH| L Bl
=) =4 £t =4 = =% =

1. XpxpH|

KM EE /S E3CHIE (S 2 ) H1000 x L2000 / X|F2 x HI3 (= 2 EZ3) 1 Azt 228,000 228,000 228,000

[2 A1 228,000 - - 228,000

2. MX|H|

A2t X 1 Pekdy 1,008 33,595 33,595 33,595

NSEH L AEXE 1 Al 14,851 14,851 14,851

grE 7| 50KW 0.4 HR 18,507 7,403 29,239 11,696 4,246 1,699 20,797

[2 A1 7,403 60,141 1,699 69,243

(g A1 235,403 60,141 1,699 297,243




2 % of 7t
Ao 22| f/FE3CHE(HE ) A7
& AbH| BTt (
35 4 =& £l = EX Ll ZH| L Bl
=) =4 £t =4 = =% =

1. XpxpH|

KM EE|C/SE3CHE (A A) H1000 x L2000 / X|F1 x H3 (= B EZ3) 1 Azt 145,500 145,500 145,500

[2 A1 145,500 - - 145,500

2. MX|H|

A2t X 1 Pekdy 1,008 33,595 33,595 33,595

NSEH L AEXE 1 Al 14,851 14,851 14,851

grE 7| 50KW 0.4 HR 18,507 7,403 29,239 11,696 4,246 1,699 20,797

[2 A1 7,403 60,141 1,699 69,243

(g A1 152,903 60,141 1,699 214,743




2 9ot =E

A EE|/FESXHAY (S EE)

3 Ak H| B TH (@)
33 4 =2 £l = 24| 2|
?5I»74|
= =% = =% Eb7t A

1. XpxpH|

K 2a| /2R HAG (S 23)  |H1000 x L2000 / X|3E2 x HI3(REH+ = 2 EE2) 1 Az 231,000 231,000 231,000
[2 A1 231,000 - - 231,000
2. Ax|H|

Aoge|o dA| 1 3zt 1,008 33,595 33,595 33,595
nESH A Kz 1 4 14,851 14,851 14,851
SR 7| 50KW 0.4 HR 18,507 7,403 29,239 11,696 4,246 1,699 20,797
[~ A1 7,403 60,141 1,699 69,243
[ A1 238,403 60,141 1,699 300,243




2 9ot =E

3 Ak H| B TH (@)
33 4 =2 £l = 24| 2|
?5I»74|
= =% = =% Eb7t A

1. XpxpH|

KM 22| of/RCHE R HAS (PIZ3)  |H1000 x L2000 / X|Z1 x HI3(REH+ = 2 EE2) 1 Az 148,500 148,500 148,500
[ A1 148,500 - - 148,500
2. Ax|H|

Aoge|o dA| 1 3zt 1,008 33,595 33,595 33,595
nESH A Kz 1 Al 14,851 14,851 14,851
SR 7| 50KW 0.4 HR 18,507 7,403 29,239 11,696 4,246 1,699 20,797
[~ A1 7,403 60,141 1,699 69,243
[g 41 155,903 60,141 1,699 217,743




2 9ot =E

A E2|C/FESXHBYE (S HY)

3 Ak H| B TH (@)
33 4 =2 £l = 24| 2|
?5I»74|
= =% = =% Eb7t A

1. XpxpH|

K 2a| /R CHE R HBY (S 23)  |H1000 x L2000 / K32 x HE3(REH+2X(2) 1 Az 231,000 231,000 231,000
[2 A1 231,000 - - 231,000
2. Ax|H|

Aoge|o dA| 1 3zt 1,008 33,595 33,595 33,595
nESH A Kz 1 Al 14,851 14,851 14,851
SR 7| 50KW 0.4 HR 18,507 7,403 29,239 11,696 4,246 1,699 20,797
[~ A1 7,403 60,141 1,699 69,243
[ A1 238,403 60,141 1,699 300,243




2 9ot =E

S At H| B TH(R)
33 4 =2 £l = 24| 2|
?5I»7q|
= A Eb7t A Eb7t A

1. XpxpH|

KM 22| Cf/REH2 X HBE (Y ZE)  [H1000 x L2000 / X|Z=1 x HI3(REH+2X|2) 1 3zt 148,500 148,500 148,500
[ A1 148,500 - - 148,500
2. Ax|H|

A 220 X 1 4zt 1,008 33,595 33,595 33,595
nESH A Kz 1 4 14,851 14,851 14,851
S 7| 50KW 0.4 HR 18,507 7,403 29,239 11,696 4,246 1,699 20,797
[~ A1 7,403 60,141 1,699 69,243
[g 41 155,903 60,141 1,699 217,743




2 % of 7t
A2 /R A HE (S EE) A7
& AbH| BTt (
35 4 =& £l = EX Ll ZH| L Bl
=) =4 £t =4 = =% =

1. XpxpH|

KM 22| of/2 R HHE (S 2 E) H1000 x L2000 / X|3=2 x HF3(2X|3) 1 Azt 228,000 228,000 228,000

[2 A1 228,000 - - 228,000

2. MX|H|

A2t X 1 Pekdy 1,008 33,595 33,595 33,595

NSEH L AEXE 1 Al 14,851 14,851 14,851

grE 7| 50KW 0.4 HR 18,507 7,403 29,239 11,696 4,246 1,699 20,797

[2 A1 7,403 60,141 1,699 69,243

(g A1 235,403 60,141 1,699 297,243




2 % of 7t
22| C/R A HE (A A H) A
& AbH| BTt (
35 4 =& £l = EX Ll ZH| L Bl
=) =4 £t =4 = =% =

1. XpxpH|

KM 22| of/2 R HHE (S 2 E) H1000 x L2000 / X|Z1 x HF3(RX|3) 1 Azt 145,000 145,000 145,000

[2 A1 145,000 - - 145,000

2. MX|H|

A2t X 1 Pekdy 1,008 33,595 33,595 33,595

NSEH L AEXE 1 Al 14,851 14,851 14,851

grE 7| 50KW 0.4 HR 18,507 7,403 29,239 11,696 4,246 1,699 20,797

[2 A1 7,403 60,141 1,699 69,243

(g A1 152,403 60,141 1,699 214,243




2 % of 7t
Au2e|t/A 8 (SEY) Azl
& AbH| BTt (
35 4 =& £l = EX Ll ZH| L Bl
=) =4 £t =4 = =% =

1. XpxpH|

K| /A E YY) H1000 x L2000 / X|F2 x &l A 1 Azt 240,000 240,000 240,000

[2 A1 240,000 - - 240,000

2. MX|H|

A2t X 1 Pekdy 1,008 33,595 33,595 33,595

NSEH L AEXE 1 Al 14,851 14,851 14,851

grE 7| 50KW 0.4 HR 18,507 7,403 29,239 11,696 4,246 1,699 20,797

[2 A1 7,403 60,141 1,699 69,243

g 4l 247,403 60,141 1,699 309,243




2 % of 7t
A2 /A A8 (S EY) A
& AbH| BTt (
35 4 =& £l = EX Ll ZH| L Bl
=) =4 £t =4 = =% =

1. XpxpH|

K 2a|cf/al A (G EY) H1000 x L2000 / X|F1 x #lA 1 Azt 157,500 157,500 157,500

[2 A1 157,500 - - 157,500

2. MX|H|

A2t X 1 Pekdy 1,008 33,595 33,595 33,595

NSEH L AEXE 1 Al 14,851 14,851 14,851

grE 7| 50KW 0.4 HR 18,507 7,403 29,239 11,696 4,246 1,699 20,797

[2 A1 7,403 60,141 1,699 69,243

(g A1 164,903 60,141 1,699 226,743




